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£l in the blanks -
(i) The water vascular system is characteristic of .................phylum,
venation is found in the leaves of dicot plants.

T 1R
(i) Casparianstrips are foundinthe ...
(iv) Synapsisoceursinthe..........ooiiviiinninn sub-stage of meiosis.
(V) e plant hormone is used in ripening of fruits.
{vi) One cardiac cycle takes .....cvrevvrerirenrinmninnmicinannanen. seconds.
(vii) The number of ..............cooiiinini, cells in the retina of eyes in

nocturnal animals is more.
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T vete nnature embryg sae?

From which part of

)

the seed does the stem develop in plantg?
Write the function of typhlosole in earthworm

(V)  Write the full name of PPLO.

(V) Where does Krebs cycle take place in a plant cell?

(Vi) Write the name of the bones found in the human ear.

4

—

(vit) Write the name of the hormone that induces labour pain.

& SRSt ara ferRay —
SE—
(i) <EHd
(i) TalmE o=
(iily AT
(iv) DieE
(v) ST
(vi) Tue Hfy

(vii) TSI RN

Match the columns -
Column ‘A’
(i) Cycus
(i) Harversian system
(i) Ribosome
(iv) Cockroach
(v) DNA
(vi) Flatworm
(vii) Glvcolysis

£2d33233

PieH T’

R ERRICES
EREl
3.0H.4). grery
o
HRerf

UIEH Hergoy
STTCT HIreh

Column ‘B’
Nucleotide
Insecta

EMP pathway
Gymnosperm
Bones

Protein synthesis

Flame cells



g9

u.10

/5/5,[,1??;]6'5[ Page 6 of 8

i \L 3

EH::T ¥ @ et 27
Meant by homeostasis?
arerar / OR
NESET B wameror wite fikag )
gjg;::bjosis with example.
9 B gRafa @i |
Define double fertilization.
erar/ OR
fe—ured iy & o@m o 32
What is meant by bilateral symmetry?
SEIFA] qUT el SVESTey B S |
Explain superior and inferior ovary.
F=rar/ OR
ABe 2 HEha Pl GRATHT DI |
Define true and false fruit.
WA ql §5 Haga dea A [N BT
Differentiate between open and closed vascular bundle.

arerat/ OR

S UG SaF quT G Suhel Sad A AT DI |

Differentiate between simple and compound epithelium tissue.
Sfragarge BT gt B |
Define Plasmolysis.

arerar / OR
A7 ORTERYT AT STeURTERY] i FHEN |
Explain endosmosis and exosmosis.

q{ﬁaﬁmﬁ aoT TeE YfFRiergs T &7

Wwhat are nucleotides and higher nucleolides?
grerar/ OR

AT T D1 Go (T wreRer) @ar o

\what is the quiescent stage (Go) of the cell cycle?

110
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g6 iifamd & = s ferfau
Write any three functions of Auxin.

o/ OR
UL ) I Wiveed @y g |
Write Priestley's experiment related to photosynthesis.
w17 ¥ad qen afyer § ser e (@8 9R)
Differentiate between blood and lymph. (Any four)

gerar/ OR
Wmﬁ@@mmmmmﬁm%ﬁml

tudinal section of human kidney.

Draw a neat labelled diagram of longi
W18 Wﬂﬁﬂmaﬁmm‘mﬂﬁamﬂmﬁmzﬁﬂﬂhaﬁﬁml (
Describe the factors affecting the process of photosynthesis.
arerar / OR
ﬁfﬁmimraﬂqﬁmﬁﬁaﬂﬂgmnﬁwﬁatﬁﬁwqﬁaﬁ
e Il |
Defining photoperiodism explain short and long photoperiod plants.
g4g W e @l B @1 |ferd ao BRI | (:
), Explain mechanism of breathing in humans with diagram.
= arerar / OR
fre qr fooefi ffRaT —
(i) o 3w el
(i) XfeT
(iif) yfeadi @
(iv) TR B S
(v) TR FITOHT
Give a brief account of -
(iy Organ of cortii
(i) Retina
(iii)y Reflex arc
(iv) Node of Ranvier
(v) Corpora quadrigemina
s



g1 6 TR @ we i)
Explain Kranz Anatomy.
ez /OB
A 3R gEa A e M|
Differentiate between respiralion and combustion.
Wi2 USHTeE @ Feediel sl dwl ol R, dUi?
Adrenaline in called the emergency hormone, why?
grerar/ OR
AR g @ A @Y (el
Write any two functions of cerebrospinal fluid.
w43 ShanpEel & @ Aifdd fora 4 gy |
Draw a neat and labelled diagram of Bacteriophage.
sigar/ OR
- T[] I RO mifori § @id s fafa
 Differentiate between chordates and non-chordates. (Any three)
| Farer 0ot gt Rt T # iR fafae | (@1 GF)
Differentiate between skeletal muscles and smooth muscles. (Any
three)

3rerar/ OR
SRR qron wfrel qomsse W sfeR e | (@78 )
Differentiate between racemose and cymose inflorescence. (Any
three)

715 WHRARE qor gaRaies ol i o ffag | @ &)
Differentiate between prokaryotic and eukaryotic cells. (Any three)
Juar / OR
T o eriRgEl S friom # o fafae | (@9 &)

Differentiate between mitosis and meiosis cell division. (Any three)

()

(2)

(3)
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fruit is called true fruit.
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" (Racemose Inflorescence)
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(Cymose Inflorescence)
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(Difference between Blood and Lymph)

T (Blood) W (Lymph)

|. TH& 1 o B T |. I% TTEE Bt §

2. T8 RBCs, WBCs W2~ |2, ¥6H RBCs T Wizeigd
T2q Ifeea Bt Fuftya Bt €
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